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P.G. Diploma in Print Administration Examination, 2011
BUSINESS  APPLICATIONS  (New)

(2008 Course)
Time : 3 Hours Max. Marks : 70

 Instructions : 1) Question no. 1 is compulsory.
2) Answer any five questions from the remaining.
3) Draw neat diagrams wherever necessary.
4) Figures to the right indicate full marks.

1. a) Explain in details the procedure of identifying the vendors for the outsourcing
of the activities. 10

b) Write down the procedure of evaluation of vendor performance with examples. 10

2. Explain in detail ‘Time study’ and ‘Motion study’ with reference to the printing
business with appropriate examples. 10

3. Explain the procedure of recruitment in steps. 10

4. Explain the difference between P&L and Balance sheet and also draw the format
of the same. 10

5. Elaborate upon the nature, scope and functions of Human Resource Management
with suitable examples. 10

6. Prepare a quotation for printing of about 60 pages annual report for the company
with four color cover and B&W inner pages with suitable printing process and
quantity of 1000 copies. (Assume suitable data). 10

7. Explain in detail any two of the following concepts : 10

a) Basic pay and allowances

b) Income tax calculations applicable today

c) Provident fund and gratuity

d) Rules of incentives or increments.

–––––––––––––––––

B/I/11/135
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Post Graduate Diploma in Print Administration Examination, 2011
101 : PRINTING  PROCESSES  AND  TECHNIQUES

(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 70

 Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. List tools used for machine maintenance (any ten). 20

2. State construction working principle of single colour sheet fed offset machine.
Explain all five  units. 10

3. Describe additive and subtractive colour synthesis for graphic reproduction work. 10

4. Explain internal drum plate setter and external drum plate setter, its working
principle and function. 10

5. State and explain the terms : 10
1) LPI
2) DPI

3) PPI

4) SPI

6. a) How inkjet technology works ? 10

b) What is the use of spectrophotometer ?

___________________

B/I/11/125
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Post Graduate Diploma in Print Administration Examination, 2011
103 : PRODUCTION PLANNING AND CONTROL

(2008 Pattern) (New)

Time : 3 Hours Total Marks : 70

 Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Explain all objectives regarding the site selection and plant location. How plant layout
is designed in an organisation with respect to medium scale printing industry ? 20

2. State role, function and objectives of production manager. 10

3. a) Explain the functional and strategic decision. 10

b) State role of store-keeper.

4. Differentiate between - 10

1) Estimated cost

2) Actual cost

3) MRP.

5. Estimate the demy size paper in reams to print demy 1/8 leaflets of 4 pages each.

The quantity is 30,000 with 1% wastage. 10

6. Explain objective of Production Planning and Control and state planning,

scheduling, routing and control activities in production planning and control. 10

—————––––––———
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P.G. Diploma in Print Administration Examination, 2011
PRINCIPLES  AND  PRACTICES  OF  MANAGEMENT  AND

ORGANIZATIONAL  BEHAVIOUR
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 70

 Instructions : 1) Q. No. 1 is compulsory.
2) Solve any two questions from Q. 2 to Q. 4 and any

two questions from Q. 5 to Q. 7.
3) Figures to the right indicate full marks.

1. Explain contributions made by Henry Fayol to management thought. How will
you relate it to present day printing organisation ? 10

2. What is management ? How management is a process also as a discipline ?
Explain. 15

3. “Planning lays foundation for other management functions”. Explain. 15

4. Write short notes on (any two) : 15

a) Theory X and Theory Y

b) Formal and Informal organisation

c) Co-ordinating

5. “Man resist to change” comment on the statement with forces responsible for
change. 15

6. Explain the concept of conflict management with its process. 15

7. Write short notes on (any two) : 15

a) Job satisfaction

b) Organisational effectiveness

c) Organisation culture.

———————
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P.G. Diploma in Print Administration Examination, 2011
PRINTING  PROCESSES  AND  TECHNIQUES

(Old) (2005 Pattern)

Time : 3 Hours Max. Marks : 80

Note : 1) Answer any five questions.
2) All questions carry equal marks.

1. Explain the principles and techniques used for Graphic reproduction, including

use of satellites.

2. Explain with sketches, the main parts (systems) and operational features of a

sheet fed offset machine and advantages of ‘offset’ printing.

3. Explain the advantages of using photography and various types of cameras in

Printing Industry.

4. Distinguish between offset litho printing and Rotogravure press - giving

characteristics, advantages, limitations and quality of printing.

5. a) Explain the terminology related to colour e.g. Contrast, Harmony, Hue, Tint,

Shade, Tone and Density.

b) What precautions are to be taken in colour printing, sequencing of colours

and why ?

6. Distinguish between the processes of ‘scanning’ xeroxing and contact

(impression) printing.

7. Explain the latest innovations in printing technology using computers. Do these

help in improving quality of print ?

8. Enlist all types of paper and inks used in printing and explain their quality standards

or specifications and inspection methods.

————————

B/I/11/100



�������� [3996] – 12

P.G. Diploma in Printing Administration Examination, 2011
PRODUCTION  PLANNING  AND  CONTROL (Old)

(2005 Pattern)
Time : 3 Hours Max. Marks : 80

Instructions : 1) Attempt any five questions.

2) All question carry equal marks.

1. Describe inter-relationship of production control dept with mktg/ finance/

operation/ stores and purchase.

2. State and explain the functions of a store keeper in a printing industry. Draw a

neat sketch of a store-receipt document. What precautions are to be taken in

storing and handling various materials ?

3. What role does PPC play in ensuring optimum utilization of equipment and

labour ?

4. Define quality. What are the different stages at which quality is “checked” and

how ?

5. State and explain 6 function of costing. Calculate the quantity of sewing thread

required for the  binding of 5000 books in As size, assuming that each book

contains 15 sections and the thread in each level is 500 meters.

6. What are the different processes used in printing industry ? Explain the method

of calculating labour hours in each process.

7. List the various costs in printing industry. Classify then in fixed cost and  variable

cost.

8. Define and explain the terms cost, price and profit.

——————

B/I/11/100
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PG Diploma in Print Administration Examination, 2011
(2005 Pattern)

ORGANIZATION AND MANAGEMENT OF PRINTING BUSINESS (Old)

Time: 3 Hours Max. Marks: 80

Instructions : 1) Answer any five questions.
2) Draw neat diagrams wherever necessary.
3) Assume suitable data wherever necessary
4) Figures to the right indicate full marks.

1. Discuss the various factors to be considered in while deciding the layout of the
plant for the commercial printing press with appropriate examples. 16

2. Explain in detail the detailed procedure of raw material purchasing with
appropriate examples. 16

3. Explain the concept marketing mix for manufacturing and service industry
with suitable examples. 16

4. Write a letter to the customer regarding the balance payment of the job. Assume
suitable data for the same. 16

5. Explain the difference between P&L account and Balance Sheet. Also draw
the format of the same. 16

6. Explain in detail any two of the following : 16

a) Copy right Act

b) Shops and Establishment Act

c) Excise and Octrai

d) Sales Tax Act.

——————

B/I/11/100
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P.G. Diploma in Print Administration Examination, 2011
Paper – V : PERSONNEL MANAGEMENT AND ORGANIZATION

BEHAVIOUR (Old)
(2005 Pattern)

Time : 3 Hours Max. Marks : 80

            N.B. : i) Solve any four questions.
ii) Figures to the right indicate full marks.

1. Explain in detail, why job analysis and job evaluation are essential ? Also, explain

in brief various parameters for Job satisfaction. 20

2. What are the objectives and functions of Trade Union ? Explain essentials of

successful Trade Union. 20

3. Define motivation. Compare and contrast Maslow’s and Herzberg’s theories of

Motivation. 20

4. Define “Young person” according to Factories Act, 1948. Explain the various

provisions for women and young persons according Factories Act, 1948. 20

5. What is “Illegal strike and Illegal Lockout” ? Explain the role of government in

both the cases according to Industrial Disputes Act, 1947. 20

6. Define Leadership. Explain in brief various types of leadership. Explain which

type of leadership is most suitable in conflict situation in manufacturing

organisation. 20

—————––––––———

B/I/11/100
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Total No. of Questions—5] [Total No. of Printed Pages—2

[3969]-201

S.Y. B.Com. EXAMINATION, 2011

BUSINESS COMMUNICATION

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Define the term Communication. State the importance and principles

of Communication. [16]

2. Describe the various methods of Communication. [16]

Or

Define the term “Business Letter”. Explain in detail essential qualities

of a good Business Letter. [16]

3. (A) Draft an enquiry letter to Titan Ltd., M.G. Road, Bengaluru,

on behalf of Diamond Watch Company, Deccan Gimkhana,

Pune-4 for purchasing watches. [8]

(B) Write a job application to Bajaj Auto Ltd. Akurdi, Pune

in response to an advertisement for the post of Chief

Accountant. [8]
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Or

(A) Write a letter on behalf of Komal Engineering Company

Ltd., Pune asking for extension of time for execution of an

order. [8]

(B) Draft a notice of Annual General Meeting. [8]

4. What is Report ? Describe the various types of Report. [16]

5. Write short notes on (any two) : [16]

(A) Solicited and unsolicited application letter

(B) E-Mail

(C) Website

(D) Importance of Minutes.



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—8+3

[3969]-202

S.Y. B.Com. EXAMINATION, 2011

CORPORATE ACCOUNTING

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator is allowed.

1. (A) Fill in the blanks (any five) : [10]

(i) Accounting Standard (AS) 29 deals with .......................

and Accounting Standard (AS) 11 deals with ....................... .

(ii) Shares issued more than face value is known as

......................... and shares issued less than face value

is known as ......................... .

(iii) Profit prior to incorporation is known as ......................

and profit after registration is known as ......................... .

(iv) One liquidation of a company and one formation of a

company is known as ......................... and two liquidations

of companies and one formation of a company is known

as ......................... .

(v) The procedure of reduction in share capital is known

as ......................... and balance of capital reduction is to

be transferred to ......................... .
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(vi) In case the company is insolvent the interest will be

payable upto the ......................... of company’s winding

up and in case of solvent company the interest will be

payable upto the ......................... .

(vii) The share capital of subsidiary company does not appear

in the ......................... and cost price of shares acquired

more than face value with their capital loss is known

as ......................... .

(B) Write short notes on (any two) : [14]

(i) Accounting Standard (AS) 9

(ii) Redemption of Debentures

(iii) Modes of Liquidation

(iv) Purchase Consideration

(v) Principles of Liquidation.

2. Aptech Ltd. has an authorised and subscribed capital of Rs. 6,00,000

divided into 6,000 equity shares of Rs. 100 each. The following is

the Trial Balance as on 31st March, 2011 : [14]

Particulars Debit Credit

Rs. Rs.

Share Capital 6,00,000

Freehold Premises 1,80,000 —

Machinery 4,58,000 —

Furniture 18,500 —

Loose Tools 35,000 —
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Rs. Rs.

Preliminary Expenses 15,000 —

Calls in Arrears 10,000 —

Cash in Hand 12,000 —

Investments 1,40,000 —

Bills Receivable 50,400 —

Purchases and Returns 10,00,000 10,200

Sales Returns and Sales 17,200 11,50,000

Sundry Debtors 84,000 —

Interim Dividend 15,000 —

General Repairs 3,900 —

General Expenses 8,700 —

Stock (1-4-2010) 1,75,000 —

Advertisements 10,500 —

Audit Fees 8,000 —

Goodwill 68,000 —

Wages 87,800 —

Carriage Inward 10,600 —

Insurance Premium 6,400 —

Reserve Fund — 1,60,000

Sundry Creditors — 1,00,000

6% Debentures (1st Oct., 2010) — 3,42,000

Profit & Loss A/c (1-4-2010) — 26,000

Rent Received — 15,800

Deposits — 10,000

24,14,000 24,14,000
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You are required to prepare Trading, Profit & Loss Account and

Profit & Loss Appropriation Account for the year ending 31st March,

2011 and a Balance Sheet as on that date in the prescribed form

under the Companies Act, 1956. The following adjustments have also

to be made :

(a) Stock as on 31st March, 2011 was Rs. 2,25,000.

(b) Prepaid Insurance Premium Rs. 1,400.

(c) The provision for doubtful debts to be made at 5% on Sundry

Debtors.

(d) Provide depreciation at 5% on Machinery, 20% on Loose Tools

and 10% on Furniture.

(e) Provision of Rs. 5,000 is to be made for Taxation.

(f) On 15th November, 2010, Directors declared an interim dividend

for half year ending 30th Sept., 2010 at 3% on paid-up capital.

(g) Directors decided to transfer Rs. 5,000 to Reserve Fund.

(h) Write off 1/3 Preliminary Expenses.

Or

Sonam Ltd. Company registered with an Authorised Capital 30,000

shares of Rs. 100 each. Of which issued 20,000 shares of Rs. 100

each at a premium of Rs. 10 per share payable as follows :

On Application Rs. 30

On Allotment Rs. 30 (with premium)

On First call Rs. 30

On Final call Rs. 20



[3969]-202 5 P.T.O.

Applications were received for 15,000 shares and all these applicants

were allotted shares. The directors made all calls on shares. The

first call money was not received on 1,000 shares and final call

money on 500 shares. The directors forfeited these shares on which

first call was not paid. Of the forfeited shares 500 shares were

reissued as fully paid at Rs. 70 per share.

Journalise the transactions in the books of company.

3. (A) Kunika Ltd. was registered on 1st July, 2010 to buy over the

running business of Mr. R.D. as from 1st April, 2010 and obtained

the Trading Certificate on 1st August, 2010. The accounts of

the company for the period ended 31st March, 2011 disclosed

the following facts : [8]

(1) The turnover for the whole period Rs. 7,20,000 of which

Rs. 90,000 related to the period from 1st April, 2010

to 1st July, 2010 and Gross Profit Rs. 2,88,000.

(2) The following items appeared in the Profit & Loss Account :

Particular Rs.

Managing Director’s Remuneration 4,500

Audit Fees 2,250

Rent Paid 14,400

Bad debts (of which Rs. 2,400 related to the

  book debts created before 1st August, 2010) 6,000

Staff Salaries 36,000

Interest on Debentures 18,000
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Rs.

Depreciation on Furniture 10,800

Brokerage 3,600

Discount on Issue of Debentures 3,600

General Expenses 5,400

Commission on Sales 10,800

Printing and Stationery 7,200

Travelling Expenses 25,200

Advertisement and Free Samples 12,600

Interest to Vendor (at 6% on 3,00,000 from

  1st April, 2010 to 30th November, 2010) 12,000

Prepare statement showing profit prior to and after incorpo-

ration. State the amount of profit available for distribution

of dividend.

(B) The Balance Sheet of Sony Ltd. as on 31st March, 2010 is

as follows : [14]

Liabilities Rs. Assets Rs.

Share Capital Land and Building 2,00,000

(i) 1,000, 6% Preference Plant and Machinery 2,20,000

Shares of Rs. 100 Stock 1,00,000

each 1,00,000 Debtors 1,00,000

(ii) 2,000 Equity Shares Cash at Bank 30,000

of Rs. 100 each fully Preliminary Expenses 40,000

paid 2,00,000 Profit and Loss A/c 60,000



[3969]-202 7 P.T.O.

Rs. Rs.

(iii) 3,000 Equity Shares

of Rs. 100 each, Rs. 50

paid 1,50,000

6% Debentures (Floating

  charge on all assets) 1,00,000

Bank Loan (Mortgage on

  Land and Building) 1,00,000

Sundry Creditors 90,000

Income Tax 10,000

7,50,000 7,50,000

The company went into liquidation on 31st March, 2010.

The preference dividend were in arrears for three years. The

arrears are payable on liquidation. The assets were realised

as follows :

Land and Building Rs. 2,40,000, Plant and Machinery Rs. 1,80,000,

Stock Rs. 70,000 and Debtors Rs. 60,000.

The expenses of liquidation amounted to Rs. 8,000.

The liquidator is entitled to remuneration at 2% on all assets

realised and 3% on amount distributed to unsecured creditors.

All payments were made on 1st Oct., 2010.

Prepare Liquidator’s Final Statement of Account.
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4. (A) The following are the summarised Balance Sheets of Sujata

Ltd. and Vanita Ltd. as on 31st March, 2011 : [10]

Liabilities Sujata Vanita Assets Sujata Vanita

Ltd. Ltd. Ltd. Ltd.

Rs. Rs. Rs. Rs.

Share Capital Freehold Premises 3,00,000 1,00,000

  (Rs. 20 each) 7,00,000 4,00,000 Machinery 4,80,000 2,20,000

Profit & Loss A/c 1,60,000 — Shares in Vanita Ltd.

Sundry Creditors 3,60,000 1,40,000   (16,000 Shares) 2,20,000 —

Bills Payable 20,000 — Sundry Debtors 2,40,000 1,00,000

Bills Receivable — 20,000

Profit & Loss A/c — 1,00,000

12,40,000 5,40,000 12,40,000 5,40,000

Additional Information :

(1) The Debtors of Sujata Ltd. included Rs. 40,000 due from

Vanita Ltd.

(2) Sujata Ltd. acquired the shares of Vanita Ltd. on 1st

April, 2010 when Vanita Ltd. had a debit balance in Profit

& Loss A/c of Rs. 1,60,000.

(3) Bill payable of Sujata Ltd. are all issued in favour of

Vanita Ltd.

Prepare a Consolidated Balance Sheet with detail working.
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(B) Onida Ltd. presents you with the following Balance Sheet as

on 31st March, 2011 : [10]

Liabilities Rs. Assets Rs.

Share Capital : Goodwill 30,000

Equity Shares of Rs. 100 Land & Building 75,000

    each fully paid 2,00,000 Plant & Machinery 1,50,000

7% Preference Shares of Patents 15,000

    Rs. 100 each 1,50,000 Stock 1,10,000

Profit Prior to Incorporation 5,000 Sundry Debtors 75,000

6% Debentures 1,50,000 Cash 2,500

Sundry Creditors 1,00,000 Preliminary Expenses 12,500

Profit & Loss A/c 1,35,000

6,05,000 6,05,000

The following scheme of reconstruction was duly approved :

(1) 7% Preference shares be converted into 9% Preference

Shares, the amount being reduced by 30%.

(2) Equity Shares be reduced to fully paid shares of

Rs. 50 each.

(3) Land and Building be appreciated by 20%.

(4) Debentures be reduced by 20%.

(5) All intangible assets and fictitious assets including patents

be written off. Utilise profit prior to incorporation, if

necessary.
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(6) Equity shareholders to subscribe equity shares of Rs. 50,000.

The amount to be utilised for acquiring new Plant and

Machinery.

Give necessary Journal entries in the books of Onida Ltd. and

prepare the resultant Balance Sheet.

Or

The following is the Balance Sheet of Rupa Ltd. as on 31st March,

2011 : [20]

Liabilities Rs. Assets Rs.

Share Capital Building 1,70,000

4,000 Equity Shares of Plant & Machinery 4,00,000

  Rs. 100 each 4,00,000 Investment 50,600

General Reserve 50,000 Debtors 1,40,500

Profit & Loss A/c 5,600 Stock 80,700

5% Debentures 2,50,000 Cash at Bank 16,500

Creditors 1,28,700

Dividend Equalisation Fund 24,000

8,58,300 8,58,300

Rupa Ltd. was absorbed by Dipa Ltd. on the above date, on the

following terms and conditions, Dipa Ltd. to :

(1) Assume all liabilities and to acquire all assets except investments

which were sold by Rupa Ltd. for Rs. 45,500.
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(2) Discharge the debentures at a discount of 5% by issue of 7%

Debentures in Dipa Ltd.

(3) Issue two shares of Rs. 60 each in Dipa Ltd. at Rs. 65 per

share and also pay Rs. 2 in cash to the shareholders of Rupa

Ltd. in exchange for one share in Rupa Ltd.

(4) Pay the cost of absorption for Rs. 1,500.

With the consent of the shareholders, the Liquidator of Rupa Ltd.

sold off in open market one fifth of the shares received from Dipa

Ltd. at the average rate of Rs. 63 per share.

You are required to prepare :

(i) Statement of Purchase Consideration

(ii) Realisation A/c

(iii) Shareholder A/c

(iv) Bank A/c

(v) 5% Debentureholder A/c

(vi) Opening Journal entries in the books of Dipa Ltd.



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

[3969]-203

S.Y. B.Com. EXAMINATION, 2011

BUSINESS ECONOMICS (MACRO)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. What is Macro-economics ? Explain the scope, significance and limi-

tations of Macro-economics. [16]

2. Define National Income. What is the significance of estimating National

Income ? Mention the difficulties in measuring National Income. [16]

Or

Define Trade cycle. Describe the phases of trade cycle. [16]

3. Answer in brief :

(A) What is money ? Explain the Keynesian view of demand for

money. [8]

(B) Explain the determinants of consumption function. [8]

Or

(A) What are the causes of Inflation ? [8]

(B) Explain Psychological Law of Consumption. [8]
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4. What is meant by Public Finance ? Explain the scope of Public

Finance. [16]

5. Write short notes on (any two) : [16]

(1) Circular flow of National Income

(2) Quantitative measures of credit control

(3) Accelerator Principle

(4) Types of Budget.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- lexz«{kh vFkZðkkL= Eg.kts dk; \ lexz«{kh vFkZðkkL=kph O;kIrh] egRo vkf.k e;kZnk

Li"V djk- [16]

2- jk"V™h; mRiUukph O;k[;k |k- jk"V™h; mRiUu x.kusps egRo dk; \ jk"V™h; mRiUu ekiukrh«

vMp.kh Li"V djk- [16]

fdaok

O;kikjpÿkaph O;k[;k |k- O;kikjpÿkP;k voLFkkaps o.kZu djk- [16]
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3- FkksMD;kr mŸkjs |k %

(v) iSlk Eg.kts dk; \ iSðkkP;k ekx.khckcrpk dsUl ;kapk n`"Vhdksu Li"V

djk- [8]

(c) miHkksxQ«ukps fu/kkZjd ?kVd Li"V djk- [8]

fdaok

(v) p«ufoLrkjkph dkj.ks dks.krh \ [8]

(c) miHkksxklaca/khpk ekulðkkL=h; fu;e Li"V djk- [8]

4- lkoZtfud vk;&O;; Eg.kts dk; \ lkoZtfud vk;&O;;kph O;kIrh Li"V djk- [16]

5- FkksMD;kr Vhik f«gk (dks.kR;kgh nksu) % [16]

(1) jk"V™h; mRiUukpk pÿkdkj izokg

(2) irfu;a=.kkph la[;kRed lk/kus

(3) izosx rRo

(4) vankti=dkps izdkj-



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

[3969]-204

S.Y. B.Com. EXAMINATION, 2011

PRINCIPLES AND FUNCTIONS OF MANAGEMENT

(Business Management)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate marks allotted to the question.

1. Define the term ‘Management’. Explain the features of Management. [16]

2. What do you mean by the term ‘Scientific Management’ ? Explain

the specific contribution of F.W. Taylor in the development of Scientific

Management Thought. [16]

Or

What do you mean by the term ‘Delegation of Authority’ ? Explain

the difficulties in the process of Delegation. [16]

3. (a) Explain in brief Maslow’s Need Hierarchy Theory. [8]

(b) Explain the principles of ‘Direction’. [8]

Or

(a) Explain the qualities of a successful leader. [8]

(b) Explain the stages in the process of ‘Control’. [8]
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4. What do you mean by the term ‘Corporate Social Responsibility’ ?

Explain various ways through which organizations are fulfilling the

corporate social responsibility. [16]

5. Write short notes on (any two) : [16]

(a) Dr. B.R. Ambedkar’s thought on Management

(b) Disaster Management

(c) Span of Control

(d) Business Ethics.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- ^O;oLFkkiu* ;k laKsph O;k[;k |k- O;oLFkkiukph oSfðk"VÓs Li"V djk- [16]

2- ^ðkkL=h; O;oLFkkiu* Eg.kts dk; \ ðkkL=h; O;oLFkkiu fopkjkP;k fodklkrh« ,Q-

MCY;q- Vs«j ;kaps oSfðk"VÓiw.kZ ;ksxnku Li"V djk- [16]

fdaok

^vf/kdkjiznku* Eg.kts dk; \ vf/kdkjiznku izfÿ;srh« vMFkˇs Li"V djk- [16]

3- (v) ^ekL«ks* ;kaP;k ekuoh xjtkaP;k Js.khpk flºkar FkksMD;kr Li"V djk- [8]

(c) funsZðkukph rRos Li"V djk- [8]
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fdaok

(v) ;ðkLoh usr`Rokps xq.k Li"V djk- [8]

(c) fu;a=.k izfÿ;srh« VIis Li"V djk- [8]

4- O;kolkf;d lkekftd tckcnkjh (Corporate Social Responsibility) Eg.kts

dk; \ O;kolkf;d lkekftd tckcnkÚ;k ikj ikM.;kps fofo/k ekxZ Li"V djk- [16]

5- FkksMD;kr Vhik f«gk (dks.krsgh nksu) % [16]

(v) MkW- ckcklkgsc vkacsMdjkaps O;oLFkkiufo"k;d fopkj

(c) vkiŸkh O;oLFkkiu (Disaster Management)

(d) fu;a=.k d{kk (foLrkj) (Span of Control)

(M) O;kolkf;d uhfr ewY;s-
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S.Y. B.Com. EXAMINATION, 2011

ELEMENTS OF COMPANY LAW

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) All questions carry equal marks.

1. Define a ‘Private Company’. State the special privileges and exemptions

available to private companies. How does a private company become

a public company by choice ?

2. Explain the steps required to be taken for the formation of a

company and the documents required to be filed with the Registrar

of Companies.

Or

What is meant by ‘Allotment of Shares’ ? Explain the provisions

of the Companies Act, 1956 regarding allotment of shares.

3. (A) State in brief the conditions governing the buy-back of shares

by a company.

(B) Explain the term ‘amalgamation’ and state its objectives.
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Or

(A) What is ‘e-Governance’ ? State the advantages of e-Filing.

(B) State the circumstances under which a company may be

compulsory wound up by Court/Tribunal.

4. Discuss the requisites of a valid general meeting as per the Companies

Act, 1956.

5. Write short notes on (any two) :

(A) Legal position of directors.

(B) Removal of a director.

(C) Distinction between a Managing Director and a Manager.

(D) Exceptions to the rule of ‘Supremacy of the Majority of

Shareholders’.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vfuok;Z vkgsr-

(ii) loZ izðukauk leku xq.k vkgsr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kktxh daiuhph O;k[;k |k- [kktxh daiuh«k feˇ.kkjs foðks"k gDd o lwV@lo«rh

lkaxk- [kktxh daiuh Lor%P;k bPNsuqlkj@ilarhuqlkj lkoZtfud dðkh gks≈ ðkdrs \

2- daiuhP;k LFkkiusdjhrk iw.kZ djkos «kx.kkjs VIis vkf.k daiuh uksan.kh vf/kdkÚ;kdMs nk[k«

djkO;k «kx.kkÚ;k nLr,sotkaps Li"Vhdj.k djk-
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fdaok

^Hkkx okVi* Eg.kts dk; \ Hkkx okViklanHkkZrh« daiuh dk;nk] 1956 e/kh« rjrqnh

Li"V djk-

3- (v) daiuhus Hkkxkaph iqu[kZjsnh dj.;kP;k lanHkkZrh« vVh FkksMD;kr lkaxk-

(c) ^,d=hdj.k* gh laKk Li"V djk vkf.k ,d=hdj.kkph mfÌ"VÓs lkaxk-

fdaok

(v) ^bZ&xOguZUl* Eg.kts dk; \ bZ&Qkbf«axps Qk;ns lkaxk-

(c) U;k;k«;@U;k;kf/kdj.k ;kapsdMwu daiuhps lDrhus foltZu dks.kR;k ifjfLFkrhr

gksrs rs lkaxk-

4- daiuh dk;nk] 1956 uqlkj oS/k lk/kkj.k lHksP;k vkoð;d ckchaph ppkZ djk-

5- FkksMD;kr Vhik f«gk (dks.kR;kgh nksu) %

(v) lapk«dkaps dk;nsðkhj LFkku-

(c) lapk«dkl dk<wu Vkd.ks-

(d) O;oLFkk lapk«d vkf.k O;oLFkkid ;krh« Qjd-

(M) ^cgqla[; Hkkx/kkjdkaps loZJs"BRo* ;k fu;ekl vl.kkjs viokn-



Total No. of Questions—5] [Total No. of Printed Pages—1

[3969]-206

S.Y. B.Com. EXAMINATION, 2011

BUSINESS ADMINISTRATION—I

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. State the process of company formation in India. [16]

2. Define Management. Explain the principles and functions of

Management. [16]

Or

What is quality control ? Explain in detail the scope, objectives

and importance of quality control.

3. (A) Explain the stages of Business Promotion. [8]

(B) Explain the factors affecting productivity. [8]

Or

(A) Explain the various types of plant layout. [8]

(B) State the legal requirement for starting a business. [8]

4. What is globalisation ? Explain the features, advantages and

disadvantages of globalisation. [16]

5. Write short notes (any two out of four) : [16]

(a) Special Economic Zones

(b) Joint Stock Company

(c) Joint Venture

(d) BPO (Business Process Outsourcing).
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S.Y. B.Com. EXAMINATION, 2011

BANKING AND FINANCE

Special Paper I

(Indian Banking System)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain the structure of Banking System in India. [16]

2. Explain the progress and performance of Private Sector Banks in

India after 1969. [16]

Or

Explain the reasons of Bank Nationalisation in India. [16]

3. (A) State the progress of State Bank of India. [8]

(B) State the problems of Regional Rural Banks. [8]

Or

(A) What are the functions of Primary Agriculture Co-operative

Credit Societies ? [8]

(B) State the recommendations of Narsimham Committee—I (1991). [8]



[3969]-207 2

4. Explain the functions of Reserve Bank of India. [16]

5. Write short notes on (any two) : [16]

(i) Urban Co-operative Banks.

(ii) Management of Non-performing Assets (NPA’s).

(iii) Difference between Regional Rural Bank and Commercial Bank.

(iv) Principles of Co-operation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- Hkkjrkrh« c°d iz.kk«hph jpuk Li"V djk- [16]

2- 1969 uarjP;k dkˇkrh« Hkkjrkrh« [kktxh {ks=krh« c°dkaph izxrh o dkefxjh Li"V

djk- [16]

fdaok

Hkkjrkrh« c°dkaP;k jk"V™h;dj.kkph dkj.ks Li"V djk- [16]

3- (v) LVsV c°d vkWQ bafM;kph dkefxjh lkaxk- [8]

(c) izknsfðkd xzkeh.k c°dkaP;k leL;k lkaxk- [8]

fdaok

(v) izkFkfed œ"kh lgdkjh irlaLFkkph dk;sZ dks.krh vkgsr \ [8]

(c) ujflage lfefr&I (1991) P;k fðkQkjðkh lkaxk- [8]
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4- Hkkjrh; fj>OgZ c°dsph dk;sZ Li"V djk- [16]

5- FkksMD;kr fVik f«gk (dks.kR;kgh nksu) % [16]

(i) ukxjh lgdkjh c°dk

(ii) fu"ÿh; ek«eŸkk O;oLFkkiu

(iii) izknsfðkd xzkeh.k c°dk o O;kikjh c°dkrh« Qjd

(iv) lgdkjkph rRos-
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S.Y. B.Com. EXAMINATION, 2011

BUSINESS LAWS AND PRACTICES

Paper I

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following in 20 words each (any ten) : [20]

(1) Define Co-operative Society under the Maharashtra Co-operative

Societies Act, 1960.

(2) Define ‘Area of Operation’ under the Multi-state Co-operative

Societies Act, 2002.

(3) State the meaning of ‘Bye-laws’ under the Maharashtra

Co-operative Societies Act, 1960.

(4) Define ‘Broker’ under the Agricultural Produce Marketing

(Development and Regulation) Act, 1963.

(5) Define Agricultural Produce under the Agricultural Produce

Marketing (Development and Regulation) Act, 1963.

(6) Define ‘Agriculturist’ under the Agricultural Produce Marketing

(Development and Regulation) Act, 1963.

(7) Define ‘Premium’ under the Law of Insurance.

(8) State the meaning of ‘Marine Insurance’.

(9) What is the meaning of ‘Risk’ under the Law of Insurance ?
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(10) Define ‘Life Insurance’.

(11) Define Insurer under the Law of Insurance.

(12) Define Re-insurance.

(13) State two features of a Co-operative Society.

2. Answer the following questions in 50 words each (any two) : [10]

(1) State the different types of Co-operative Societies.

(2) State the rights of policyholders.

(3) Write a note on Re-audit under the MCS Act.

(4) State the objectives of the Multi-state Co-operative Societies

Act, 2002.

3. Answer the following questions in 150 words each (any two) : [20]

(1) Discuss the different types of Insurance Policies.

(2) Explain in detail amalgamation of Market Committees

under the Agricultural Produce Marketing (Development and

Regulation) Act, 1963.

(3) Explain the procedure for amendments of Bye-laws under the

Maharashtra Co-operative Societies Act, 1960.

(4) What are the obligations and rights of Insurer ?

4. Answer the following questions in 300 words each (any two) : [30]

(1) What is Marketing Board ? Explain the functions and powers

of Marketing Board.

(2) State the objectives of the Multi-state Co-operative Societies

Act, 2002. Explain the powers and functions of Chief Executive

under the Act.
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(3) Explain the objectives of Life Insurance Corporation. State its

constitution and powers.

(4) Explain the different types of Marine Insurance Policy.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- izR;sdh 20 ðkCnkai;±r [kk«h« mŸkjs f«gk (QDr ngk) % [20]

(1) egkjk"V™ lgdkjh laLFkk dk;nk] 1960 varxZr ^lgdkjh laLFkk*ph O;k[;k f«gk-

(2) cgw&jkT; lgdkjh laLFkk dk;nk] 2002 varxZr ^,fj;k vkWQ vkWijs'ku*ph O;k[;k

f«gk-

(3) egkjk"V™ lgdkjh laLFkk dk;nk] 1960 varxZr ^ck;&«kWt~*pk vFkZ lkaxk-

(4) ðksrh mRiknu foÿh (fodkl vkf.k fu;eu) dk;nk] 1963 varxZr ^n«k«*ph

O;k[;k f«gk-

(5) ðksrh mRiknu foÿh (fodkl vkf.k fu;eu) dk;nk] 1963 uqlkj ^ðksrh mRiknuk*ph

O;k[;k lkaxk-

(6) ðksrh mRiknu foÿh (fodkl vkf.k fu;eu) dk;nk] 1963 varxZr ^œ"kd*

(ðksrdjh)ph O;k[;k f«gk-

(7) foek dk;nÓk varxZr ^gIrk*ph O;k[;k f«gk-

(8) lkxjh foE;kpk vFkZ lkaxk-

(9) foek dk;nÓk varxZr ‘Risk’ (tks[khe) Eg.kts dk; \

(10) ^thou foek*ph O;k[;k f«gk-
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(11) foek dk;nk varxZr ^foek/kkjdkph* O;k[;k f«gk-

(12) ^iqufoZek*ph O;k[;k f«gk-

(13) lgdkjh laLFkkph nksu oSfðk"VÓs lkaxk-

2- iq<h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) lgdkjh laLFkkaps fofo/k izdkj lkaxk-

(2) foek ;kstuk /kkjdkps vf/kdkj lkaxk-

(3) MCS dk;nÓk varxZr ^iqu«sZ[kk ifj{k.k*oj fVi f«gk-

(4) cgqjkT;h; lgdkjh laLFkk dk;nk] 2002 ph mn~nh"VÓs lkaxk-

3- iq<h« izðukaph mŸkjs izR;sdh 150 ðkCnkr f«gk (dks.krsgh nksu) % [20]

(1) foek ;kstukaP;k fofo/k izdkjkaph ppkZ djk-

(2) ðksrh mRiknu foÿh (fodkl vkf.k fu;eu) dk;nk] 1963 varxZr cktkj lfeR;kaps

,d=hdj.k lfoLrj Li"V djk-

(3) egkjk"V™ lgdkjh laLFkk dk;nk] 1960 varxZr iksVfu;ek (Bye-laws)

e/;s nq#Lrhph izfÿ;k Li"V djk-

(4) foek izfrfu/kh (Insurer) ph drZO;s vkf.k vf/kdkj dk; vkgsr \

4- iq<h« izðukaph mŸkjs izR;sdh 300 ðkCnkr f«gk (dks.krsgh nksu) % [30]

(1) foi.ku eaMˇ Eg.kts dk; \ foi.ku eaMˇkph dk;sZ vkf.k vf/kdkj Li"V

djk-

(2) cgw&jkT; lgdkjh laLFkk dk;nk] 2002 ph mÌh"VÓs lkaxk- ;k dk;nÓk varxZr

eq[; dk;Zdkjh vf/kdkÚ;kps vf/kdkj o dk;sZ Li"V djk-

(3) thou foek fuxekph oSfðk"VÓs Li"V djk- frph laghrk vkf.k vf/kdkj lkaxk-

(4) lkxjh foek ;kstusps fofo/k izdkj lkaxk-
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S.Y. B.Com. EXAMINATION, 2011

CO-OPERATION AND RURAL DEVELOPMENT

Paper I

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain in detail modified principles of Co-operation. [16]

2. State the features of Co-operative Societies Act, 1925 and explain

its effects on Co-operative Movement in India. [16]

Or

Explain growth and progress of Multi-state Co-operative Societies

in India.

3. (A) Explain provisions regarding registration of Co-operative

Society according to Maharashtra State Co-operative Societies

Act, 1960. [8]

(B) Explain the Mass approach of rural development. [8]

Or

(A) Evaluate the progress of Consumer Co-operatives in India.

(B) Explain the individual approach of rural development.
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4. What is Panchayat Raj System ? Explain the effect of Panchayat

Raj System in rural development. [16]

5. Write short answers of any two of the following : [16]

(1) Dairy Co-operatives in Maharashtra.

(2) Contribution of Mahatma Gandhi in rural development.

(3) Rural development and peoples participation.

(4) Effects of Globalization on Cooperative Movement in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- lgdkjkph lq/kkfjr rRos lfoLrj Li"V djk- [16]

2- lgdkj laLFkk dk;nk] 1925ph oSfðk"VÓs lkaxwu] R;kps Hkkjrkrh« lgdkj pˇoˇhoj >k«s«s

ifj.kke foðkn djk- [16]

fdaok

Hkkjrh; cgwjkT; lgdkjh laLFkkaph ok< o izxrh Li"V djk-

3- (v) egkjk"V™ jkT; lgdkjh laLFkkapk dk;nk] 1960 e/kh« lgdkjh laLFkk uksan.khckcrP;k

rjrwnh Li"V djk- [8]

(c) xzkeh.k fodklkckcrpk lok±fx.k n`f"Vdksu Li"V djk- [8]
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fdaok

(v) Hkkjrkrh« xzkgd lgdkjh laLFkkaP;k izxrhps ewY;ekiu djk-

(c) xzkeh.k fodklkckcrpk oS;fDrd n`f"Vdksu Li"V djk-

4- iapk;rjkt O;oLFkk Eg.kts dk; \ xzkeh.k fodklkoj iapk;rjkt O;oLFksps gks.kkjs ifj.kke

Li"V djk- [16]

5- [kk«h« izðukaph FkksMD;kr mŸkjs f«gk (dks.krsgh nksu) % [16]

(1) egkjk"V™krh« nwX/k lgdkjh laLFkk-

(2) xzkeh.k fodklkr egkRek xka/kh ;kaps ;ksxnku-

(3) xzkeh.k fodkl vkf.k «ksdkapk lgHkkx-

(4) tkxfrdhdj.kkps Hkkjrkrh« lgdkjh pˇoˇhoj >k«s«s ifj.kke-
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S.Y. B.Com. EXAMINATION, 2011

COST AND WORKS ACCOUNTING

Paper I

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator is allowed.

1. (A) Fill in the blanks : [5]

(i) ...................is a master requisition of materials which

lists all the materials required for a job.

(ii) Motive power is an example of..................overheads.

(iii) ..................is the technique/process of ascertaining costs.

(iv) In...................method of pricing, closing stock is valued

at the oldest price paid.

(v) ....................is the rate of change in the labour force

of an organisation.
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(B) State whether the following statements are True or False : [5]

(i) Main purpose of Cost Accounting is to maximise profit.

(ii) Variable cost per unit remains unchanged when output

is increased or decreased.

(iii) Purpose of time booking is to compute the wages

payable to workers.

(iv) High labour turnover indicates instability of work-

force.

(v) Job evaluation and merit rating both necessary for

equitable wage determination.

2. (A) Define ‘Cost Accounting’. State the objectives of Cost

Accounting. [8]

(B) What is ‘Cost Centre’ ? Explain various types of Cost

Centres. [7]

Or

Describe briefly the purchase documents which are used in an

organisation while purchasing of materials. [15]
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3. Write short notes on (any three) : [15]

(i) Stores Layout

(ii) Centralised Store

(iii) ABC Analysis

(iv) Time Booking

(v) Job Evaluation.

4. (A) The summary of expenses incurred during the year ended 31st

March, 2007 by a manufacturer is given below : [15]

Particulars Amount

Rs.

Direct Wages 25,000

Materials issued to jobs 38,000

Hire of Cranes on jobs 1,000

Power 4,500

Rent and Rates (Factory) 3,000

Works Salaries 4,400
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Salaries to Maintenance Workers 6,000

Office Rent 4,800

Salaries to Salesmen 7,500

Postage and Stationery 1,500

Salesmen’s Commission 2,500

Travelling Expenses 4,000

Machine Repairs 2,100

Machine Depreciation 8,600

Director’s Fees 3,000

Auditor’s Fees 1,500

Up-keep of Delivery Vans 1,200

Warehouse Wages 2,400

Lighting (Factory) 1,800

Lighting (Office) 600

Interest on Loan 2,500

Bank Charges 200

Donations 500
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Bad Debts 1,200

Cash Discount Allowed 600

Legal Expenses 300

Drawing Office Expenses 1,000

Dividends Paid 4,000

Royalty Paid 6,000

Market Research Expenses 600

Transfer to Reserve 2,000

Free Samples Distributed 300

Sales 1,60,000

Prepare a statement of cost, showing profits earned during

the year.

(B) Calculate the earnings of A and B under Taylor’s Differential

Piece Rate System, from the following information : [5]

Standard Production : 7 units per hour

Factory day : 8 hours

Normal time rate : Rs. 2.80 per hour
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Differentials to be applied : 80% of piece rate below

standard, 120% of piece

rate at or above standard

Mr. A produces 50 units a day

Mr. B produces 60 units a day.

5. (A) With the help of the following information, prepare the Stores

Ledger Card based on the weighted average method of pricing

issues : [10]

September 1 Opening balance 24,000 kg. at

 Rs. 7.50 per kg.

.........,,...... 1 Purchase 44,000 kg. at Rs. 7.60 per kg.

.........,,...... 1 Issue 10,000 kg.

.........,,...... 5 Issue 16,000 kg.

.........,,...... 12 Issue 24,000 kg.

.........,,...... 13 Purchase 10,000 kg. at Rs. 7.80 per kg.

.........,,...... 18 Issue 24,000 kg.

.........,,...... 22 Purchase 50,000 kg. at Rs. 8.00 per kg.

.........,,...... 28 Issue 30,000 kg.

.........,,...... 30 Issue 22,000 kg.
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(B) Compute the materials turnover ratio for materials A and B

and comment upon the results. [10]

Particulars Material A Material B

Rs. Rs.

Opening stock 10,000 9,000

Purchase during the year 52,000 27,000

Closing stock 6,000 11,000

Or

Calculate the earnings of a worker from the following information

under :

(a) Halsey Plan; and

(b) Rowan Plan.

The standard time for a job is 20 hours @ Rs. 3 per hour.

The job was actually finished within 15 hours. [10]
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S.Y. B.Com. EXAMINATION, 2011

BUSINESS STATISTICS

Paper I

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator and statistical tables is allowed.

1. (A) Attempt any four of the following : [2 each]

(a) In a moderately skewed distribution the arithmetic mean

is 45 and median is 48. Find the approximate value of

mode.

(b) State the purpose of assignment problem.

(c) Define Break Even Point (BEP).

(d) State whether each of the statements given below is true

or false :

(i) If r12 = r13 = r23 = r, then R1.23 = r12.3.

(ii) In dichotomous classification of 2 attributes, there

are 4 ultimate class frequencies.

(e) What do you mean by interpolation ?

(f) What do you mean by balanced transportation

problem ?

P.T.O.
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(B) Attempt any two of the following : [4 each]

(a) Calculate 3 yearly moving average for the following data

relating to number of commercial and industrial failures

in the country :

Year Number of Failures

83 23

84 26

85 28

86 32

87 20

88 12

89 12

90 10

91 9

92 13

93 11

94 14

95 12

96 9

97 3

98 1

(b) Determine an initial basic feasible solution to the following

transportation problem by using North-West Corner method.

Also find corresponding cost of transportation :

       Warehouse

Factory W1 W2 W3 W4 Capacity

    F1 21 16 25 13 11

    F2 17 18 14 23 13

    F3 32 27 18 41 19

Requirement 6 10 12 15 43
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(c) The first four raw moments of a distribution are 10, 116, 1544

and 22184. Examine the skewness and kurtosis. Comment on

the shape of the distribution.

2. Attempt any two of the following : [8 each]

(a) Use simplex method to solve the following LPP :

Maximize :

Z = 6x1 + 4x2

subject to the constraints :

2x1 + x2 < 390

3x1 + 3x2 < 810

     x2 < 200

 x1, x2 > 0.

(b) The population of a town in the decennial census was as given

below. Estimate the population for the year 1955 using Newton’s

method :

Year Population

(in lacs)

1951 46

1961 66

1971 81

1981 93

1991 101

(c) X1, X2 and X3 are the heights in cm of son, mother and

father respectively :

1 2 3X 168, X 162, X 167= = =

  1 2 32, 2.5, 2.5σ = σ = σ =

 

12 13 230.7, 0.6, 0.5.r r r= = =
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(i) Obtain least square regression equation of X1 on X2

and X3.

(ii) Estimate X1 when X2 = 164, and X3 = 170.

3. Attempt any two of the following : [8 each]

(a) A firm produces x tonnes of the item at the total

cost :

C(x) = Rs. (x3 – 9x2 + 85x + 17)

Find :

(i) The average cost

(ii) The average variable cost

(iii) The average fixed cost

(iv) The marginal average cost.

(b) (i) In a coeducation institution, out of 200 students, 150

were boys. In an examination, 120 boys and 40 girls passed.

Apply Yule’s coefficient to determine the association between

sex and success in the examination. Interpret your

result.

(ii) Obtain the dual of :

Maximize :

Z = 5x1 + 3x2

subject to the constraints :

 x1 + x2 < 2

5x1 + 2x2 < 10

3x1 + 8x2 < 12

   x1, x2 > 0.



[3969]-211 5 P.T.O.

(c) Find initial basic feasible solution of the following transportation

problem using VAM :

To

D1 D2 D3 Availability

From O1 16 19 12 14

    O2 22 13 19 16

    O3 14 28 8 12

Requirement 10 15 17

4. Attempt any two of the following : [8 each]

(a) The following data gives the number of women of child bearing

ages and yearly births by quinquennial age groups for a city.

Calculate GFR and TFR and comment on the result :

Age Group Female Population Number of

(in thousands) Births

15—20 8 56

20—25 10 100

25—30 12 84

30—35 6 36

35—40 3 15

40—45 5 5

45—50 4 4

(b) Using Lagrange’s interpolation formula find the value of Y,

when X = 2 :

X Y

1 4

3 12

4 19
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(c) (i) Distinguish between multiple correlation coefficient and

partial correlation coefficient in case of trivariate

data.

(ii) Explain the concept of Autogressive model in time series

analysis.

5. Attempt any two of the following : [8 each]

(a) The following are the assets of a bank :

Year Assets

(in crores Rs.)

1993 83

1994 92

1995 71

1996 90

1997 169

Fit a straight line trend and hence estimate assets in year

2000.

(b) A project work consists of four major jobs for which four

contractors have submitted tenders. The tender amounts quoted

in thousands of rupees are given in the following matrix :

   

Contractors

.

Find the assignment which minimizes total cost of the project.

Each contractor has to be assigned one job.
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(c) Compare the mortality situation of year 1971 and 1981 of a

city.

Take population in 1971 as a standard population :

Age         Year 1981          Year 1971

Group Population Deaths Population Deaths

0—5 20,000 400 25,000 650

5—15 50,000 300 40,000 380

15—35 65,000 780 60,000 720

35 & above 20,000 500 15,000 625
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[3969]-212

S.Y. B.Com. EXAMINATION, 2011

BUSINESS ENTREPRENEURSHIP

Paper I

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain in detail entrepreneurial qualities. [16]

2. Explain the entrepreneurial career of Mr. Azim Premji. [16]

Or

Discuss social responsibility of business towards consumers and

investors. [16]

3. (A) Narrate various techniques of creativity development. [8]

(B) State the advantages and limitations of franchising. [8]

Or

(A) Distinguish between self-employment and paid employment.

[8]

(B) Discuss the advantages of self help groups. [8]

4. Explain in detail, new opportunities to service business in

India. [16]

5. Write short notes on (any two) : [16]

(a) Group Entrepreneurship

(b) Challenges of Globalisation

(c) Social Audit

(d) Kakinada Experiment.

P.T.O.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. m|kstfd; xq.kkaps lfoLrj Li"Vhdj.k djk- [16]

2. Jh vf>e izsekth ;kaph m|kstfd; dkjfdnZ Li"V djk- [16]

fdaok

xzkgd o xqaro.kwdnkj ;kaP;k izfr vl«sY;k m|ksxkP;k lkekftd tckcnkjhph ppkZ

djk- [16]

3. (v) ltZuðkh«rk fodklkP;k ra=kaps o.kZu djk- [8]

(c) O;olk;kf/kdkjkps Qk;ns o e;kZnk lkaxk- [8]

fdaok

(v) Lo;a jkstxkj o uksdjh ;krh« Qjd lkaxk- [8]

(c) Lo;a lgk∏;rk xVkP;k Qk;nÓkaph ppkZ djk- [8]

4. Hkkjrkr lsok m|ksxk«k vl«sY;k uO;k la/khps lfoLrj Li"Vhdj.k djk- [16]

5. FkksMD;kr fVik f«gk (dks.krsgh nksu) % [16]

(v) lkewfgd m|kstdrk

(c) tkxfrdhdj.kkph vkOgkus

(d) lkekftd «s[kk ifj{k.k

(M) dkfdukMk iz;ksx-
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S.Y. B.Com. EXAMINATION, 2011

MARKETING MANAGEMENT—I

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. What is Marketing Manager ? Explain the qualities, duties and

responsibilities of marketing manager. [16]

2. Define Marketing Mix. Explain the factors of Marketing Mix. [16]

Or

Explain the evaluation of marketing in the approaches of

ethics. [16]

3. (A) Explain the scope of agricultural marketing. [8]

(B) Explain the features of services. [8]

Or

(A) Explain the importance of customer relationship manage-

ment. [8]

(B) Explain the marketing communication through product

cues. [8]

4. Define marketing communication. State the importance of marketing

communication. [16]

P.T.O.
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5. Write short notes (any two) : [16]

(a) Importance of agricultural product in marketing.

(b) Role of transport services in marketing.

(c) Computer and customer relationship management.

(d) Factors affecting demand of Agro-product.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. foi.ku O;oLFkkid Eg.kts dk; \ foi.ku O;oLFkkidkps xq.k] drZO;s o vf/kdkj

Li"V djk- [16]

2. foi.ku feJph O;k[;k |k- foi.ku feJps ?kVd lfoLrj Li"V djk- [16]

fdaok

uSfrdrsP;k n`"Vhdksukrwu foi.kukps ewY;ekiu Li"V djk- [16]

3. (v) ðksrek« foi.kukph O;kIrh Li"V djk- [8]

(c) lsosph oSfðk"VÓs Li"V djk- [8]

fdaok

(v) xzkgd laca/k O;oLFkkiukps egRo Li"V djk- [8]

(c) oLrw dsaÊkekQZr foi.ku laKkiu Li"V djk- [8]

4. foi.ku laKkiukph O;k[;k |k- foi.ku laKkiukps egRo foðkn djk- [16]
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5. FkksMD;kr Vhik f«gk (dks.kR;kgh nksu) % [16]

(v) œ"kh ek«kps foi.kukrh« egRo

(c) okgrwd lsokaph foi.kukrh« Hkwfedk

(d) xzkgd laca/k O;oLFkkiu vkf.k lax.kd

(M) ðksrek«kP;k ekx.kh«k izHkkfor dj.kkjs ?kVd-
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S.Y. B.Com. EXAMINATION, 2011

AGRICULTURAL AND INDUSTRIAL ECONOMICS

Special Paper I

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain the importance of Agriculture in Indian economy. [16]

2. State the causes of low productivity in agriculture and suggest its

remedies. [16]

Or

Explain the role of industrialization in economic development. [16]

3. (A) Explain the institutional sources of agricultural finance. [8]

(B) Explain the factors determining the optimum size of a

firm. [8]

Or

(A) Explain the effects of subsidies on agricultural prices. [8]

(B) Explain the factors influencing industrial productivity. [8]

4. Explain fully Alfred Weber’s theory of industrial location. [16]

5. Write short notes on (any two) : [16]

(a) Defects of agricultural marketing

(b) Concepts of Special Economic Zone (SEZ)

(c) Importance of Industrial Economics

(d) Concept of Plant, Firm and Industry.

P.T.O.
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(ejkBh :ikarj)
osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. Hkkjrh; vFkZO;oLFksrh« ðksrhps egRo Li"V djk- [16]

2. ðksrhph mRikndrk deh vl.;kph dkj.ks lkaxwu R;koj mik;;kstuk lqpok- [16]

fdaok
vkfFkZd fodklkr vkS|kfxdj.kkph Hkwfedk Li"V djk- [16]

3. (v) œ"kh foŸkiqjoBÓkps laLFkkRed ekxZ Li"V djk- [8]

(c) m|ksxlaLFksps i;kZIr vkdkjeku Bjfo.kkjs ?kVd Li"V djk- [8]

fdaok

(v) ðksrek«kP;k fdaerhoj vuqnkukps ifj.kke Li"V djk- [8]

(c) vkS|ksfxd mRikndrsoj ifj.kke dj.kkjs ?kVd Li"V djk- [8]

4. vkY›sM oscj ;kapk vkS|ksfxd LFkku fufðprhpk flºkar lfoLrj Li"V

djk- [16]

5. FkksMD;kr Vhik f«gk (dks.kR;kgh nksu) % [16]

(v) ðksrek« foÿhO;oLFksrh« nks"k

(c) foðks"k vkfFkZd {ks=kph ladYiuk (ls>)

(d) vkS|ksfxd vFkZðkkL=kps egRo

(M) la;a=] m|ksxlaLFkk o m|ksx/kank ;k ladYiuk-



Total No. of Questions—4] [Total No. of Printed Pages—4

[3969]-215

S.Y. B.Com. EXAMINATION, 2011

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Paper I

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]

(1) Define war time economy.

(2) State the concept of ‘ideology’.

(3) What do you mean by preparation for defence ?

(4) Define ‘war finance’.

(5) State the meaning of Self-Reliance.

(6) What do you mean by Defence Vs. Development ?

(7) State the meaning of strategic control.

(8) What do you mean by productive expenditure ?

(9) Define National Power.

(10) State the meaning of ‘Zero Base Budgeting’.

(11) Write the meaning of Deficit Finance.

(12) Write the long form of DPSU.

(13) State the meaning of ‘Mobilisation of Resources’.

P.T.O.
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2. Answer any two in 50 words each : [10]

(1) Explain aims of peace time economy.

(2) Discuss merits of war time economy.

(3) Describe mobilization of resources for defence.

(4) Explain methods of war finance.

3. Answer any two in 150 words each : [20]

(1) Explain the role of private sector in Defence Production.

(2) Discuss the role of Research and Development in Defence

Production.

(3) Discuss importance of Defence Planning.

(4) Examine how leadership influence defence expenditure of a

country.

4. Answer any two in 300 words each : [30]

(1) Analyse India’s defence expenditure since 1990.

(2) Examine how threat perception determine defence expenditure

of a country.

(3) Write a note on Defence Vs. Development.

(4) Explain relationship between Defence and Economy.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 20 ðkCnkr mŸkjs nÓk (dks.krsgh ngk) % [20]

(1) ;qºdk«hu vFkZO;oLFkk O;k[;k nÓk-
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(2) ^fopkj/kkjk* vFkZ f«gk-

(3) laj{k.kkph r;kjh Eg.kts dk; \

(4) ^okWj Qk;ukUl* O;k[;k nÓk-

(5) ^lsYQ&fj«k;Ul* vFkZ f«gk-

(6) laj{k.k vkf.k fodkl ;krh« fojks/kkHkkl Eg.kts dk; \

(7) ^lkefjd fu;a=.k* vFkZ uewn djk-

(8) mRiknd [kpZ Eg.kts dk; \

(9) ^jk"V™h; ðkDrh* O;k[;k nÓk-

(10) ^ðkqU; vk/kkjhr vFkZladYi* vFkZ f«gk-

(11) fMQhflV Qk;ukUl vFkZ uewn djk-

(12) fM-ih-,l-;w- pk iw.kZLo:i f«gk-

(13) ^lk/kulaiŸkhph xfrekurk* vFkZ f«gk-

2. izR;sdh 50 ðkCnkr mŸkjs nÓk (dks.krsgh nksu) % [10]

(1) ðkkarrkdk«hu vFkZO;oLFksps gsrw Li"V djk-

(2) ;qºdk«hu vFkZO;oLFksP;k xq.kkckcr ppkZ djk-

(3) laj{k.kklkBh lk/kulaiŸkhph xfrekurk o.kZu djk-

(4) okWj Qk;ukUlP;k iºrh Li"V djk-

3. izR;sdh 150 ðkCnkr mŸkjs nÓk (dks.krsgh nksu) % [20]

(1) laj{k.k mRiknukrh« [kktxh {ks=kph Hkwfedk Li"V djk-

(2) laj{k.k mRiknukrh« laðkks/ku vkf.k fodklkP;k Hkwfedsckcr ppkZ djk-

(3) laj{k.kkP;k fu;kstukP;k egRokckcr ppkZ djk-

(4) nsðkkP;k laj{k.kkojh« [kpkZoj usr`Rokpk dðkkizdkjs izHkko iMrks \
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4. izR;sdh 300 ðkCnkr mŸkjs nÓk (dks.krsgh nksu) % [30]

(1) 1990 uarjP;k HkkjrkP;k laj{k.k [kpkZps foð«s"k.k djk-

(2) /kksD;kph ladYiuk gh nsðkkP;k laj{k.k [kpZ dðkkizdkjs fu/kkZjhr djrs \ ifj{k.k

djk-

(3) laj{k.k vkf.k fodkl ;krh« fojks/kkHkkl ;koj fVi.k f«gk-

(4) vFkZO;oLFkk vkf.k laj{k.k ;krh« laca/k Li"V djk-
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S.Y. B.Com. EXAMINATION, 2011

INSURANCE, TRANSPORT AND TOURISM

Paper I

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Define General Insurance. Explain the scope and principles of General

Insurance. [16]

2. Define Life Insurance. Explain the various types of Life Insurance

Policies. [16]

Or

Describe the role of General Insurance Company (GIC) of

India.

3. (A) Explain the organisational structure of Life Insurance

Business.

(B) Write a brief note on Tour Planning. [16]

Or

(A) Explain the basic principles of Insurance.

(B) Explain the responsibilities of Tour Operator.

4. What is Tourist accommodation ? Explain the significance and types

of Tourist Accommodation. [16]

P.T.O.



[3969]-216 2

5. Answer the following questions (any two) : [16]

(1) State the impact of Tourism on Indian Economy.

(2) Evaluate different types of Tourists.

(3) Write a note on Geographical Tourism.

(4) Explain the various types of Tours.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. ^loZlk/kkj.k foE;kph* O;k[;k lkaxk- loZlk/kkj.k foE;kph O;kIrh vkf.k rRos Li"V

djk- [16]

2. ^vk;qfoZE;kph* O;k[;k lkaxk- vk;qfoZek ikW«hðkhaps fofo/k izdkj Li"V djk- [16]

fdaok

Hkkjrkrh« loZlk/kkj.k foek daiuhph (GIC) Hkwfedk foðkn djk-

3. (v) vk;qfoZek O;olk;kph la?kVukRed jpuk Li"V djk-

(c) ^;k=k&fu;kstu* ;koj FkksMD;kr Vhi f«gk- [16]

fdaok

(v) foE;kph ew«Hkqr rRos Li"V djk-

(c) ;k=k&vk;kstdkP;k tckcnkÚ;k Li"V djk-

4. ^i;ZVd&fuoklO;oLFkk* Eg.kts dk; \ i;ZVd&fuoklO;oLFksps egRo o izdkj Li"V

djk- [16]
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5. [kk«h« izðukaph mŸkjs |k (dks.krsgh nksu) % [16]

(1) Hkkjrh; vFkZO;oLFksoj i;ZVukpk iM.kkjk izHkko lkaxk-

(2) i;ZVdkaps fofo/k izdkj foðkn djk-

(3) ^HkkSxksf«d i;ZVukoj* fVi f«gk-

(4) ;k=s (Tours) ps fofo/k izdkj Li"V djk-
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S.Y. B.Com. EXAMINATION, 2011

COMPUTER APPLICATION

Paper I

(Visual Basic)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Neat diagrams must be drawn wherever necessary.

1. (A) Answer the following questions (any four) : [8]

(i) What is Progress Bar ?

(ii) What do you mean by constant ?

(iii) What is the purpose of Data Control ?

(iv) Define Popup menu.

(v) Why is VB called as event driven Programming ?

(B) Give the output of the following section of code (any

two) : [8]

(i) Dim i as integer

i = 1

Do while i < = 10

Print i

i = i + 1

loop

(ii) Dim i as integer

for i = 16 to 2 step-4

print i

Next

P.T.O.
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(iii) for row = 1 to 5

for col = 1 to row

print ‘‘*’’

Next col

Print

Next row

2. Attempt any two of the following : [16]

(i) Write a note on Model and Modelless Dialog Box.

(ii) Explain the steps to connect with access database using ADODC

Control.

(iii) Explain Select ..... case Statement with an example.

3. (A) Write the purpose and syntax of the following (any

four) : [8]

(i) Do...while

(ii) Checkbox

(iii) DriveListBox

(iv) Frame

(v) Timer.

(B) Write properties and methods of the following (any two) :  [8]

(i) Image Box

(ii) Picture Box

(iii) Textbox.

4. Attempt any two of the following : [16]

(i) Explain Data report facility in Visual Basic.

(ii) Explain in detail the VB IDE (Integrated Development

Environment) along with its features.

(iii) Explain the different data types in Visual Basic.
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5. Attempt any two of the following : [16]

(i) Design a form in VB to calculate the pay slip for employees

of ABC Manufacturing Co. Ltd. Display four textboxes for reading

Basic, DA, HRA, TA and three textboxes for deduction like

IT, PF, PT. Display 3 buttons to calculate Gross Salary, Deduction

and Net Salary. Write a program for calculating Gross Salary,

Deduction and Net Salary of the employee.

(ii) Explain in detail the Menu Editor of VB.

(iii) Explain the use of Image List Control in Tool bar.
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S.Y. B.Com. EXAMINATION, 2011

COMPUTER APPLICATION

Paper III (Vocational Course)

[RDBMS (Theory)]

(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) First question is compulsory and attempt any five from

remaining questions.

(ii) Draw a neat and labelled diagram whenever necessary.

1. What is Normalization ? Explain first normalization, second

normalization and third normalization form with example. [10]

2. Explain in brief the following with syntax and example : [6]

(a) UPDATE

(b) DELETE.

3. Explain Traditional file management system and problems with file

approach. [6]

4. Explain the following functions : [6]

(a) INITCAP( )

(b) SQRT( ).

P.T.O.
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5. Explain in brief the following : [6]

(a) DML

(b) Primary key.

6. Explain the following with example : [6]

(a) Order by clause

(b) Select statement with where clause.

7. Write a short note on Sequence. [6]



Total No. of Questions—3] [Total No. of Printed Pages—2
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S.Y. B.Com. EXAMINATION, 2011

ADVERTISING, SALES PROMOTION AND SALES

MANAGEMENT

Paper III (Vocational)

(Advertising and Media Planning)

(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. What do you mean by copy writing ? State and explain the elements

of an advertising copy. [12]

Or

Explain the concept of Animation and Graphics. Explain the role

of Animation and Graphics in Advertising.

2. What do you mean by advertising effectiveness ? State and

explain the post-testing methods of evaluating advertising

effectiveness. [12]

Or

State and explain the pre-testing methods of evaluation of advertising

effectiveness.

P.T.O.
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3. Write short notes (any four) : [16]

(1) Function of Branding

(2) Types of Brand Name

(3) Advertising Strategies

(4) Media Scheduling

(5) Media Planning

(6) Objectives of advertising.
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S.Y. B.Com. EXAMINATION, 2011

TAX PROCEDURE AND PRACTICES

Vocational Course—Paper III

(Income Tax)

(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) : [10]

(i) Who is called assessee ?

(ii) Explain the term ‘Previous Year’.

(iii) Who is entitled to refund ?

(iv) Explain the terms ‘Appeal’ and ‘Revision’.

(v) What is permissible deduction u/s 80 DD ?

(vi) What are permissible deductions under section 24 of Income

Tax Act ?

(vii) What is meant by ‘‘Gross Total Income’’ ?

2. Answer in 50 words each (any two) : [8]

(i) What is meant by ‘‘Clubbing of Income’’ under Income Tax

Act ?

(ii) The residential status is determined for each category of person

separately. Discuss in detail how would you determine the

residential status of HUF.

P.T.O.
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(iii) Explain the meaning of the term ‘Perquisites’ and explain provisions

for Rent free accommodation, unfurnished and furnished

accommodation.

(iv) What is depreciation ? How is it charged under Income Tax

Act ?

3. Answer in 150 words each (any three) : [15]

(i) Enumerate any five items of incomes which do not form part

of ‘Total Income’.

(ii) What are the heads of income and why is income classified

into different heads of Income ?

(iii) Define the term ‘‘Salary’’ under Income Tax Act. Which incomes

are taxable under the head ‘salaries’ ?

(iv) Discuss provisions for ‘Payment of Advance Tax’. What are

the consequences for non-payment or short payment of Advance

Tax ?

(v) What is return ? What are the different types of

returns ?

4. What is assessment ? Explain the provisions of various assessments

under Income Tax Act. [7]

Or

Mr. Sadashiv submitted the following data of his income for year

ended 31-3-2011 :

(a) Basic salary  Rs. 35,000 p.m.

(b) D.A.       Rs. 15,000 p.m.
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(c) Employer’s contribution to R.P.F. @ 14% of salary.

(d) H.R.A. received Rs. 3,500 p.m. He paid rent Rs. 5,000 p.m.

(e) Received city compensatory allowance Rs. 250 p.m.

(f) Education allowance Rs. 300 p.m. for three children.

(g) His employer provided a car with 1.8 liter cubic capacity for

private as well as office use.

(h) Tax on employment deducted Rs. 2,500 p.a.

Compute taxable income and tax liability.



Total No. of Questions—7] [Total No. of Printed Pages—1

[3969]-221
S.Y. B.Com. EXAMINATION, 2011

COMPUTER APPLICATION

Paper IV (Vocational Course)

[Software Engineering (Theory)]

(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) First question is compulsory and attempt any five from

the remaining questions.

(ii) Draw a neat and labelled diagram wherever necessary.

1. Draw an E-R diagram for HOSPITAL MANAGEMENT SYSTEM in

which entities are doctor, patient etc. [10]

2. Explain Spiral model with diagram. [6]

3. Explain software development life cycle (SDLC) with diagram. [6]

4. Explain the following : [6]

(a) System security

(b) Elements of a system.

5. Explain fact gathering techniques. [6]

6. Explain flow charting symbols with diagram. [6]

7. Write a short note on Decision Tree. [6]
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[3969]-222
S.Y. B.Com. EXAMINATION, 2011

ADVERTISING, SALES PROMOTION AND SALES

MANAGEMENT

Paper IV (Vocational)

(Personal Selling and Salesmanship)

(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain different types of salespersons. [12]

Or

What do you mean by marketing mix ? Explain 4 P’s in marketing

mix.

2. State and explain process of sale. [12]

Or

What do you mean by buying motives ? Explain emotional, rational

and patronage buying motives.

3. Write short notes (any four) : [16]

(1) Sales manual

(2) Character qualities of salesperson

(3) Reports and document used by salesperson

(4) Types of customers

(5) Scope of retail marketing

(6) AIDA technique.
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S.Y. B.Com. EXAMINATION, 2011

TAX PROCEDURE AND PRACTICES

(Vocational Course)

Paper IV

(Wealth Tax, Service Tax and Central Excise)

(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) : [10]

(1) Who is liable to pay Wealth Tax ?

(2) State the constitutional validity of Wealth Tax.

(3) Which assets are taxable under W.T. ?

(4) What do you mean by service tax ?

(5) What is the rate of service tax for the year 2010-11 ?

(6) Define ‘‘Excise’’ and ‘‘Excise Duty’’.

(7) What is the current present rate of Excise Duty ?

2. Answer in 50 words each (any two) : [8]

(A) Define ‘‘Net Wealth’’. How is it computed ?

(B) Who is exempted from Wealth Tax ?

(C) Write a note on ‘‘Classification of Services’’.

(D) Explain the types of Excise Duty.

P.T.O.
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3. Answer in 150 words each (any three) : [15]

(i) Explain the procedure of ‘‘Valuation of Building’’ under

W.T.

(ii) State the exempted assets under W.T.

(iii) Write down the procedure of Payment of Service Tax.

(iv) Explain the procedure for e-filing under Service Tax.

(v) Write a note on HSN.

4. Answer in 500 words (any one) : [7]

(i) Write down the detailed procedure of filing Wealth Tax

Return.

(ii) Explain the registration procedure under Service Tax Act and

Rule 1994.


